Rows(A):=0,1..rows(A4)—1

ravel (X ) =

v

cons(a,b) ::[a b]

replicate (p,v):=

Vec2VecéSize (V) =

v «— NalN
forxe X

— T

Tows (’U)

if IsScalar (v)

V <V
0

X(—cons(p,vi
V «— NaN
forx e X

[r e]—=z
if r>0
foriel,2..7r

|4 —e
rows (V)

WV

N <—TrowsSs (W)
ifn=1

We—vT

N <—TrOwSs (W)

(W n]

Cols(A):=0,1..cols(A)—1

Rep(f.V.F) =

NaN :=00

(W n) <« Vec2Vec&Size(V)
gef
j< 0
while j<n
g < g substitute Wj =P —

je<j+1




[Idist Icum Iim;cum Ircmd Iest]::[l 234 5]

Histogram (X):=|| N « length (X)
it N<3
H error (“Histogram requires at least three data points”)

X «sort (X)

4
n<—round(N6)—1
A — 00
fori e 0..r0ws(X)—n—1
iin+ —Xi<A

n

+n [

“A<—X -X

—-X

last (X) 0

A

m <« round

histogram (m ,X)

HistogramN (X ) := || h« Histogram (X )
L) A
length (X) . (hl o ho O)

h

StatApplylv(z, f,p):=|| if IsScalar (p)

f(z,p)

if rows (p) =1

Tn)
if rows (p) —

if rows (p) =3

—_—
f(w,po,pl,p2)

if rows (p) =4
Il —




SobaesssVialinds

” ”f(w,po,pl,pQ,p4)

LLikelihood (p,D,X):=|[1«<0
forxe X

l—I+1n (StatApplylv (:I: ,D0 5 ap))

MaxLikelihoodP ( p,D,X ) :=Maximize (LLik:elihood , p)

MazxLikelihood (X, D) := MaxLikelihoodP (Do - (X),D, X)

{ StatApplylv(X,f,p)=Y

[ genfit(X,Y,f,p):=Minerr (p)

h «— HistogramN (X)

FitPDF (X ,D):=
genfit (fL(O>,iL<1),D0 ,DO E (X))

) Idist

FitCDF (X ,D):=| X < sort(X)
c «—ravel (Rows (X)) =last (X)

genfit (X ,C ,DO bt D0 .l (X ))

Normal Distribution

EstNorm (X) := [ e (é )) ]

Loa Normal Distribution



EstLogNorm (

Gamma Distribution

Dgamma (:U,C',S) =

Pgamma(z,C,S):=

Qgamma(p,C,S):=

Rgamma (n,C,S) =

EstGamma(X):

Weibull Distribution

Duweibull (z,C,S):=

Pweibull (z,C,S):=

Quweibull (p,C,S):=

Rweibull (n,C,S):=

mean (1(%) ]
)

Stdev <ln (X

dgamma (i , S)
C

C

pgamma (%,S)
C-qgamma(p,S)
C Jrgammal(n),S)
U < mean (X)

O var (X)

C
7

C

dweibull (i , S)
C

c

pweibull (i 3 S)
C
C' - qweibull (p ! S)

C -rweibull (n | S)



EstWeibull (X):= || X « sort (X)
C—X

round (.63212 +length (X))

S «— !

C

In (
X
round (.3078 +length (X))

H

DNorm ::[2 dnorm pnorm gnorm rnorm EstNorm]

DLNorm ::[2 dlnorm plnorm glnorm rlnorm EstLogNorm]

DGamma:= [2 Dgamma Pgamma Qgamma Rgamma EstGamma]

DWeibull:=[2 Dweibull Pweibull Qweibull Rweibull EstWeibull|

[0.545 ]
0.956
0.052
1.19
0.111
1.34

X:= 1.037

0.898

2.116

0.266

0.241
1.139

X:: v <—NCLN
forz e X
if x#0

H rows (’U)

-

14X

X:=sort (X)



h:= Histogram (X) MaxX:=X

round (.996 - rows (X))

h(l) = h(l)
length (X) . (h1 o h0 ’ o)

MazLikelihood (X , DGamma)= ?

MazLikelihood (X , DWeibull )= ?

MazLikelihood (X , DLNorm )= ?

MazxLikelihood (In(X), DNorm )= ?

Vrows (X) =69.39

FitPDF (X ,DGamma) = 0,29
2.385
FitPDF (X ,DWeibull) = 0.r31
1.704
FitPDF (X ,DLNorm) = —0.476
0.733

FitPDF (In(X),DNorm) = [

—0.485
0.689

|

FitCDF (X ,DGam

FitCDF (X ,DWeib

FitCDF (X ,DLNor

FitCDF (In(X), DN



